Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021



ENGINEER'S ESTIMATE SUKUT CONSTRUCTION, LLC WRIGHT CONSTRUCTION ENGINEERING CORP

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
•	1 MOBILIZATION	L.S.	1	\$50,000.00	\$50,000.00	\$150,000.00	\$150,000.00	\$145,000.00	\$145,000.00
2	2 WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$1.00	\$1.00	\$20,000.00	\$20,000.00
3	3 TRAFFIC CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$9,500.00	\$9,500.00	\$10,000.00	\$10,000.00
4	4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$32,000.00	\$32,000.00	\$15,000.00	\$15,000.00
į	5 EXCAVATION	C.Y.	2,130	\$15.00	\$31,950.00	\$5.00	\$10,650.00	\$12.75	\$27,157.50
(6 PRECOMPACTION	S.Y.	6,870	\$5.00	\$34,350.00	\$2.25	\$15,457.50	\$4.00	\$27,480.00
7	7 BASIN EXCAVATION	C.Y.	42,030	\$12.00	\$504,360.00	\$7.50	\$315,225.00	\$9.00	\$378,270.00
8	8 ASPHALT CONCRETE EXCAVATION	S.F.	480	\$3.50	\$1,680.00	\$5.80	\$2,784.00	\$4.00	\$1,920.00
9	9 BACKFILL	C.Y.	2,625	\$30.00	\$78,750.00	\$5.00	\$13,125.00	\$13.00	\$34,125.00
10	0 EMBANKMENT	C.Y.	11,350	\$2.00	\$22,700.00	\$6.00	\$68,100.00	\$8.00	\$90,800.00
1	1 CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	24	\$220.00	\$5,280.00	\$135.00	\$3,240.00	\$420.00	\$10,080.00
12	2 TRENCH SAFETY SYSTEM	L.S.	1	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	\$7,500.00	\$7,500.00
10	3 CLASS "A" CONCRETE, HEADWALL AND WINGWALLS	C.Y.	8	\$1,500.00	\$12,000.00	\$2,400.00	\$19,200.00	\$1,875.00	\$15,000.00
14	4 CLASS "A" CONCRETE, CONCRETE PAD	C.Y.	101	\$400.00	\$40,400.00	\$500.00	\$50,500.00	\$600.00	\$60,600.00
15	5 CLASS "A" CONCRETE, BASIN	C.Y.	78	\$475.00	\$37,050.00	\$620.00	\$48,360.00	\$600.00	\$46,800.00
16	6 CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	4	\$1,000.00	\$4,000.00	\$2,950.00	\$11,800.00	\$2,000.00	\$8,000.00
17	7 CLASS "B" CONCRETE, 3' CUTOFF WALLS	L.F.	1,325	\$20.00	\$26,500.00	\$39.00	\$51,675.00	\$57.00	\$75,525.00
18	8 CLASS "B" CONCRETE, 5.5' CUTOFF WALLS	L.F.	84	\$100.00	\$8,400.00	\$69.00	\$5,796.00	\$203.00	\$17,052.00
19	9 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	4	\$1,500.00	\$6,000.00	\$2,400.00	\$9,600.00	\$750.00	\$3,000.00
20	0 18" RCP, CLASS IV	L.F.	31	\$175.00	\$5,425.00	\$145.00	\$4,495.00	\$323.00	\$10,013.00
2	1 24" RCP, CLASS IV	L.F.	81	\$146.00	\$11,826.00	\$150.00	\$12,150.00	\$247.00	\$20,007.00
22	2 AGGREGATE BASE, CLASS 2	C.Y.	4	\$155.00	\$620.00	\$500.00	\$2,000.00	\$125.00	\$500.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021



ENGINEER'S ESTIMATE

RAL INVESTMENT CORPORATION dba SILVERSTRAND CONSTRUCTION JEREMY HARRIS CONSTRUCTION, INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid	
1	MOBILIZATION	L.S.	1	\$50,000.00	\$50,000.00	\$125,000.00	\$125,000.00	\$110,677.00	\$110,677.00	
2	2 WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00	\$2,700.00	\$2,700.00	
3	3 TRAFFIC CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$16,675.00	\$16,675.00	
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$17,000.00	\$17,000.00	\$8,692.00	\$8,692.00	
5	5 EXCAVATION	C.Y.	2,130	\$15.00	\$31,950.00	\$28.00	\$59,640.00	\$17.00	\$36,210.00	
6	S PRECOMPACTION	S.Y.	6,870	\$5.00	\$34,350.00	\$2.85	\$19,579.50	\$1.00	\$6,870.00	
7	BASIN EXCAVATION	C.Y.	42,030	\$12.00	\$504,360.00	\$9.75	\$409,792.50	\$8.40	\$353,052.00	
8	3 ASPHALT CONCRETE EXCAVATION	S.F.	480	\$3.50	\$1,680.00	\$20.00	\$9,600.00	\$9.40	\$4,512.00	
9	BACKFILL	C.Y.	2,625	\$30.00	\$78,750.00	\$4.50	\$11,812.50	\$15.00	\$39,375.00	
10) EMBANKMENT	C.Y.	11,350	\$2.00	\$22,700.00	\$3.70	\$41,995.00	\$4.20	\$47,670.00	
11	CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	24	\$220.00	\$5,280.00	\$200.00	\$4,800.00	\$197.00	\$4,728.00	
12	2 TRENCH SAFETY SYSTEM	L.S.	1	\$10,000.00	\$10,000.00	\$8,500.00	\$8,500.00	\$8,100.00	\$8,100.00	
13	CLASS "A" CONCRETE, HEADWALL AND WINGWALLS	C.Y.	8	\$1,500.00	\$12,000.00	\$1,300.00	\$10,400.00	\$6,431.00	\$51,448.00	
14	CLASS "A" CONCRETE, CONCRETE PAD	C.Y.	101	\$400.00	\$40,400.00	\$490.00	\$49,490.00	\$661.00	\$66,761.00	
15	5 CLASS "A" CONCRETE, BASIN	C.Y.	78	\$475.00	\$37,050.00	\$675.00	\$52,650.00	\$760.00	\$59,280.00	
16	CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	4	\$1,000.00	\$4,000.00	\$1,400.00	\$5,600.00	\$4,458.00	\$17,832.00	
17	CLASS "B" CONCRETE, 3' CUTOFF WALLS	L.F.	1,325	\$20.00	\$26,500.00	\$35.00	\$46,375.00	\$65.00	\$86,125.00	
18	3 CLASS "B" CONCRETE, 5.5' CUTOFF WALLS	L.F.	84	\$100.00	\$8,400.00	\$35.00	\$2,940.00	\$122.00	\$10,248.00	
19	CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	4	\$1,500.00	\$6,000.00	\$1,600.00	\$6,400.00	\$1,362.00	\$5,448.00	
20	18" RCP, CLASS IV	L.F.	31	\$175.00	\$5,425.00	\$158.00	\$4,898.00	\$173.50	\$5,378.50	
21	24" RCP, CLASS IV	L.F.	81	\$146.00	\$11,826.00	\$165.00	\$13,365.00	\$118.00	\$9,558.00	
22	2 AGGREGATE BASE, CLASS 2	C.Y.	4	\$155.00	\$620.00	\$90.00	\$360.00	\$400.00	\$1,600.00	

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021



ENGINEER'S ESTIMATE GRANITE CONSTRUCTION SPIESS CONSTRUCTION CO., COMPANY INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid	
1	MOBILIZATION	L.S.	1	\$50,000.00	\$50,000.00	\$140,573.00	\$140,573.00	\$173,580.00	\$173,580.00	
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$500.00	\$500.00	\$6,050.00	\$6,050.00	
3	TRAFFIC CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$770.00	\$770.00	
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$5,000.00	\$5,000.00	\$33,000.00	\$33,000.00	
5	EXCAVATION	C.Y.	2,130	\$15.00	\$31,950.00	\$11.00	\$23,430.00	\$22.22	\$47,328.60	
6	PRECOMPACTION	S.Y.	6,870	\$5.00	\$34,350.00	\$0.80	\$5,496.00	\$4.57	\$31,395.90	
7	BASIN EXCAVATION	C.Y.	42,030	\$12.00	\$504,360.00	\$9.00	\$378,270.00	\$8.25	\$346,747.50	
8	ASPHALT CONCRETE EXCAVATION	S.F.	480	\$3.50	\$1,680.00	\$2.50	\$1,200.00	\$13.19	\$6,331.20	
9	BACKFILL	C.Y.	2,625	\$30.00	\$78,750.00	\$22.00	\$57,750.00	\$30.00	\$78,750.00	
10	EMBANKMENT	C.Y.	11,350	\$2.00	\$22,700.00	\$1.00	\$11,350.00	\$5.50	\$62,425.00	
11	CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	24	\$220.00	\$5,280.00	\$150.00	\$3,600.00	\$275.00	\$6,600.00	
12	TRENCH SAFETY SYSTEM	L.S.	1	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$1,859.00	\$1,859.00	
13	CLASS "A" CONCRETE, HEADWALL AND WINGWALLS	C.Y.	8	\$1,500.00	\$12,000.00	\$3,150.00	\$25,200.00	\$1,947.00	\$15,576.00	
14	CLASS "A" CONCRETE, CONCRETE PAD	C.Y.	101	\$400.00	\$40,400.00	\$500.00	\$50,500.00	\$480.70	\$48,550.70	
15	CLASS "A" CONCRETE, BASIN	C.Y.	78	\$475.00	\$37,050.00	\$600.00	\$46,800.00	\$540.10	\$42,127.80	
16	CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	4	\$1,000.00	\$4,000.00	\$3,600.00	\$14,400.00	\$1,246.30	\$4,985.20	
17	CLASS "B" CONCRETE, 3' CUTOFF WALLS	L.F.	1,325	\$20.00	\$26,500.00	\$40.00	\$53,000.00	\$63.20	\$83,740.00	
18	CLASS "B" CONCRETE, 5.5' CUTOFF WALLS	L.F.	84	\$100.00	\$8,400.00	\$260.00	\$21,840.00	\$344.30	\$28,921.20	
19	CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	4	\$1,500.00	\$6,000.00	\$1,000.00	\$4,000.00	\$2,218.70	\$8,874.80	
20	18" RCP, CLASS IV	L.F.	31	\$175.00	\$5,425.00	\$200.00	\$6,200.00	\$59.40	\$1,841.40	
21	24" RCP, CLASS IV	L.F.	81	\$146.00	\$11,826.00	\$250.00	\$20,250.00	\$74.80	\$6,058.80	
22	AGGREGATE BASE, CLASS 2	C.Y.	4	\$155.00	\$620.00	\$1,500.00	\$6,000.00	\$99.00	\$396.00	

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021 **ENGINEER'S ESTIMATE H&H GENERAL**

CONTRACTORS, INC.

VANCE CORPORATION

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$50,000.00	\$50,000.00	\$175,000.00	\$175,000.00	\$200,990.00	\$200,990.00
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$9,500.00	\$9,500.00	\$5,000.00	\$5,000.00
3	TRAFFIC CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$44,000.00	\$44,000.00	\$35,000.00	\$35,000.00
5	EXCAVATION	C.Y.	2,130	\$15.00	\$31,950.00	\$22.00	\$46,860.00	\$12.00	\$25,560.00
6	PRECOMPACTION	S.Y.	6,870	\$5.00	\$34,350.00	\$4.00	\$27,480.00	\$1.00	\$6,870.00
7	BASIN EXCAVATION	C.Y.	42,030	\$12.00	\$504,360.00	\$7.00	\$294,210.00	\$10.00	\$420,300.00
8	ASPHALT CONCRETE EXCAVATION	S.F.	480	\$3.50	\$1,680.00	\$6.50	\$3,120.00	\$10.00	\$4,800.00
9	BACKFILL	C.Y.	2,625	\$30.00	\$78,750.00	\$23.00	\$60,375.00	\$20.00	\$52,500.00
10	EMBANKMENT	C.Y.	11,350	\$2.00	\$22,700.00	\$4.50	\$51,075.00	\$2.00	\$22,700.00
11	CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	24	\$220.00	\$5,280.00	\$187.00	\$4,488.00	\$300.00	\$7,200.00
12	TRENCH SAFETY SYSTEM	L.S.	1	\$10,000.00	\$10,000.00	\$15,800.00	\$15,800.00	\$45,000.00	\$45,000.00
13	CLASS "A" CONCRETE, HEADWALL AND WINGWALLS	C.Y.	8	\$1,500.00	\$12,000.00	\$3,650.00	\$29,200.00	\$1,800.00	\$14,400.00
14	CLASS "A" CONCRETE, CONCRETE PAD	C.Y.	101	\$400.00	\$40,400.00	\$556.00	\$56,156.00	\$600.00	\$60,600.00
15	CLASS "A" CONCRETE, BASIN	C.Y.	78	\$475.00	\$37,050.00	\$1,170.00	\$91,260.00	\$650.00	\$50,700.00
16	CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	4	\$1,000.00	\$4,000.00	\$3,276.00	\$13,104.00	\$2,100.00	\$8,400.00
17	CLASS "B" CONCRETE, 3' CUTOFF WALLS	L.F.	1,325	\$20.00	\$26,500.00	\$53.00	\$70,225.00	\$80.00	\$106,000.00
18	CLASS "B" CONCRETE, 5.5' CUTOFF WALLS	L.F.	84	\$100.00	\$8,400.00	\$168.00	\$14,112.00	\$200.00	\$16,800.00
19	CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	4	\$1,500.00	\$6,000.00	\$1,274.00	\$5,096.00	\$700.00	\$2,800.00
20	18" RCP, CLASS IV	L.F.	31	\$175.00	\$5,425.00	\$130.00	\$4,030.00	\$150.00	\$4,650.00
21	24" RCP, CLASS IV	L.F.	81	\$146.00	\$11,826.00	\$119.00	\$9,639.00	\$125.00	\$10,125.00
22	AGGREGATE BASE, CLASS 2	C.Y.	4	\$155.00	\$620.00	\$602.00	\$2,408.00	\$800.00	\$3,200.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021



ENGINEER'S ESTIMATE

BEADOR CONSTRUCTION COMPANY, INC.

LB CIVIL CONSTRUCTION, INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid	
1	MOBILIZATION	L.S.	1	\$50,000.00	\$50,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$9,000.00	\$9,000.00	
3	TRAFFIC CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$9,000.00	\$9,000.00	
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00	\$45,000.00	\$45,000.00	
5	EXCAVATION	C.Y.	2,130	\$15.00	\$31,950.00	\$22.00	\$46,860.00	\$15.00	\$31,950.00	
6	PRECOMPACTION	S.Y.	6,870	\$5.00	\$34,350.00	\$5.00	\$34,350.00	\$12.00	\$82,440.00	
7	BASIN EXCAVATION	C.Y.	42,030	\$12.00	\$504,360.00	\$10.00	\$420,300.00	\$15.00	\$630,450.00	
8	ASPHALT CONCRETE EXCAVATION	S.F.	480	\$3.50	\$1,680.00	\$24.00	\$11,520.00	\$7.00	\$3,360.00	
9	BACKFILL	C.Y.	2,625	\$30.00	\$78,750.00	\$50.00	\$131,250.00	\$8.00	\$21,000.00	
10	EMBANKMENT	C.Y.	11,350	\$2.00	\$22,700.00	\$12.00	\$136,200.00	\$8.00	\$90,800.00	
11	CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	24	\$220.00	\$5,280.00	\$275.00	\$6,600.00	\$200.00	\$4,800.00	
12	TRENCH SAFETY SYSTEM	L.S.	1	\$10,000.00	\$10,000.00	\$17,500.00	\$17,500.00	\$3,000.00	\$3,000.00	
13	CLASS "A" CONCRETE, HEADWALL AND WINGWALLS	C.Y.	8	\$1,500.00	\$12,000.00	\$2,750.00	\$22,000.00	\$4,400.00	\$35,200.00	
14	CLASS "A" CONCRETE, CONCRETE PAD	C.Y.	101	\$400.00	\$40,400.00	\$470.00	\$47,470.00	\$600.00	\$60,600.00	
15	CLASS "A" CONCRETE, BASIN	C.Y.	78	\$475.00	\$37,050.00	\$735.00	\$57,330.00	\$1,300.00	\$101,400.00	
16	CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	4	\$1,000.00	\$4,000.00	\$2,350.00	\$9,400.00	\$5,500.00	\$22,000.00	
17	CLASS "B" CONCRETE, 3' CUTOFF WALLS	L.F.	1,325	\$20.00	\$26,500.00	\$45.00	\$59,625.00	\$40.00	\$53,000.00	
18	CLASS "B" CONCRETE, 5.5' CUTOFF WALLS	L.F.	84	\$100.00	\$8,400.00	\$160.00	\$13,440.00	\$100.00	\$8,400.00	
19	CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	4	\$1,500.00	\$6,000.00	\$2,335.00	\$9,340.00	\$5,000.00	\$20,000.00	
20	18" RCP, CLASS IV	L.F.	31	\$175.00	\$5,425.00	\$300.00	\$9,300.00	\$180.00	\$5,580.00	
21	24" RCP, CLASS IV	L.F.	81	\$146.00	\$11,826.00	\$170.00	\$13,770.00	\$160.00	\$12,960.00	
22	AGGREGATE BASE, CLASS 2	C.Y.	4	\$155.00	\$620.00	\$825.00	\$3,300.00	\$300.00	\$1,200.00	

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021



ENGINEER'S ESTIMATE BOWE CONTRACTORS, INC. BOSCO CONSTRUCTORS, INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$50,000.00	\$50,000.00	\$108,949.00	\$108,949.00	\$124,084.00	\$124,084.00
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$15,721.00	\$15,721.00	\$125,000.00	\$125,000.00
3	TRAFFIC CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$21,471.00	\$21,471.00	\$50,000.00	\$50,000.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$32,971.00	\$32,971.00	\$40,000.00	\$40,000.00
5	EXCAVATION	C.Y.	2,130	\$15.00	\$31,950.00	\$14.78	\$31,481.40	\$25.00	\$53,250.00
6	PRECOMPACTION	S.Y.	6,870	\$5.00	\$34,350.00	\$1.19	\$8,175.30	\$15.00	\$103,050.00
7	BASIN EXCAVATION	C.Y.	42,030	\$12.00	\$504,360.00	\$13.21	\$555,216.30	\$10.00	\$420,300.00
8	ASPHALT CONCRETE EXCAVATION	S.F.	480	\$3.50	\$1,680.00	\$15.95	\$7,656.00	\$40.00	\$19,200.00
9	BACKFILL	C.Y.	2,625	\$30.00	\$78,750.00	\$13.98	\$36,697.50	\$40.00	\$105,000.00
10	EMBANKMENT	C.Y.	11,350	\$2.00	\$22,700.00	\$6.09	\$69,121.50	\$20.00	\$227,000.00
11	CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	24	\$220.00	\$5,280.00	\$452.46	\$10,859.04	\$500.00	\$12,000.00
12	TRENCH SAFETY SYSTEM	L.S.	1	\$10,000.00	\$10,000.00	\$32,562.00	\$32,562.00	\$50,000.00	\$50,000.00
13	CLASS "A" CONCRETE, HEADWALL AND WINGWALLS	C.Y.	8	\$1,500.00	\$12,000.00	\$1,933.00	\$15,464.00	\$2,000.00	\$16,000.00
14	CLASS "A" CONCRETE, CONCRETE PAD	C.Y.	101	\$400.00	\$40,400.00	\$918.52	\$92,770.52	\$800.00	\$80,800.00
15	CLASS "A" CONCRETE, BASIN	C.Y.	78	\$475.00	\$37,050.00	\$719.44	\$56,116.32	\$800.00	\$62,400.00
16	CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	4	\$1,000.00	\$4,000.00	\$2,717.80	\$10,871.20	\$1,500.00	\$6,000.00
17	CLASS "B" CONCRETE, 3' CUTOFF WALLS	L.F.	1,325	\$20.00	\$26,500.00	\$42.83	\$56,749.75	\$30.00	\$39,750.00
18	CLASS "B" CONCRETE, 5.5' CUTOFF WALLS	L.F.	84	\$100.00	\$8,400.00	\$100.00	\$8,400.00	\$100.00	\$8,400.00
19	CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	4	\$1,500.00	\$6,000.00	\$2,661.00	\$10,644.00	\$1,500.00	\$6,000.00
20	18" RCP, CLASS IV	L.F.	31	\$175.00	\$5,425.00	\$190.00	\$5,890.00	\$200.00	\$6,200.00
21	24" RCP, CLASS IV	L.F.	81	\$146.00	\$11,826.00	\$199.00	\$16,119.00	\$220.00	\$17,820.00
22	AGGREGATE BASE, CLASS 2	C.Y.	4	\$155.00	\$620.00	\$1,529.00	\$6,116.00	\$100.00	\$400.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021



ENGINEER'S ESTIMATE

O'DUFFY BROS., INC.

THE VAN DYKE CORPORATION

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$50,000.00	\$50,000.00	\$70,000.00	\$70,000.00	\$200,817.50	\$200,817.50
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$2,500.00	\$2,500.00	\$32,110.00	\$32,110.00
3	TRAFFIC CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$7,500.00	\$7,500.00	\$6,890.00	\$6,890.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$90,000.00	\$90,000.00	\$18,799.14	\$18,799.14
5	EXCAVATION	C.Y.	2,130	\$15.00	\$31,950.00	\$19.00	\$40,470.00	\$102.53	\$218,388.90
6	PRECOMPACTION	S.Y.	6,870	\$5.00	\$34,350.00	\$1.00	\$6,870.00	\$1.51	\$10,373.70
7	BASIN EXCAVATION	C.Y.	42,030	\$12.00	\$504,360.00	\$18.00	\$756,540.00	\$21.27	\$893,978.10
8	ASPHALT CONCRETE EXCAVATION	S.F.	480	\$3.50	\$1,680.00	\$7.00	\$3,360.00	\$4.41	\$2,116.80
9	BACKFILL	C.Y.	2,625	\$30.00	\$78,750.00	\$12.00	\$31,500.00	\$1.61	\$4,226.25
10	EMBANKMENT	C.Y.	11,350	\$2.00	\$22,700.00	\$6.50	\$73,775.00	\$4.56	\$51,756.00
11	CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	24	\$220.00	\$5,280.00	\$200.00	\$4,800.00	\$601.53	\$14,436.72
12	TRENCH SAFETY SYSTEM	L.S.	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$5,850.00	\$5,850.00
13	CLASS "A" CONCRETE, HEADWALL AND WINGWALLS	C.Y.	8	\$1,500.00	\$12,000.00	\$5,000.00	\$40,000.00	\$3,281.30	\$26,250.40
14	CLASS "A" CONCRETE, CONCRETE PAD	C.Y.	101	\$400.00	\$40,400.00	\$445.00	\$44,945.00	\$482.30	\$48,712.30
15	CLASS "A" CONCRETE, BASIN	C.Y.	78	\$475.00	\$37,050.00	\$1,000.00	\$78,000.00	\$854.37	\$66,640.86
16	CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	4	\$1,000.00	\$4,000.00	\$3,500.00	\$14,000.00	\$987.68	\$3,950.72
17	CLASS "B" CONCRETE, 3' CUTOFF WALLS	L.F.	1,325	\$20.00	\$26,500.00	\$80.00	\$106,000.00	\$63.15	\$83,673.75
18	CLASS "B" CONCRETE, 5.5' CUTOFF WALLS	L.F.	84	\$100.00	\$8,400.00	\$250.00	\$21,000.00	\$101.12	\$8,494.08
19	CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	4	\$1,500.00	\$6,000.00	\$5,700.00	\$22,800.00	\$1,269.84	\$5,079.36
20	18" RCP, CLASS IV	L.F.	31	\$175.00	\$5,425.00	\$190.00	\$5,890.00	\$247.69	\$7,678.39
21	24" RCP, CLASS IV	L.F.	81	\$146.00	\$11,826.00	\$135.00	\$10,935.00	\$236.87	\$19,186.47
22	AGGREGATE BASE, CLASS 2	C.Y.	4	\$155.00	\$620.00	\$700.00	\$2,800.00	\$143.88	\$575.52

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021



Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021



ENGINEER'S ESTIMATE SUKUT CONSTRUCTION, LLC WRIGHT CONSTRUCTION ENGINEERING CORP

Item No. Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
23 HOT MIX ASPHALT (HMA)	TONS	6	\$250.00	\$1,500.00	\$525.00	\$3,150.00	\$250.00	\$1,500.00
24 TEMPORARY RESURFACING	TONS	5	\$250.00	\$1,250.00	\$500.00	\$2,500.00	\$200.00	\$1,000.00
25 3-FOOT CABLE RAILING	L.F.	49	\$50.00	\$2,450.00	\$55.00	\$2,695.00	\$204.00	\$9,996.00
26 MISCELLANEOUS IRON AND STEEL	LBS.	260	\$2.50	\$650.00	\$4.50	\$1,170.00	\$13.00	\$3,380.00
27 MIDWEST GUARDRAIL SYSTEM	L.F.	60	\$82.00	\$4,920.00	\$55.00	\$3,300.00	\$180.00	\$10,800.00
28 DELINEATORS	EACH	21	\$75.00	\$1,575.00	\$55.00	\$1,155.00	\$25.00	\$525.00
29 ADJUST MANHOLE TO GRADE	EACH	1	\$1,500.00	\$1,500.00	\$1,250.00	\$1,250.00	\$1,000.00	\$1,000.00
30 EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
31 ROCK SLOPE PROTECTION, CLASS V	C.Y.	306	\$82.00	\$25,092.00	\$10.00	\$3,060.00	\$134.00	\$41,004.00
32 FILTER MATERIAL	C.Y.	351	\$50.00	\$17,550.00	\$140.00	\$49,140.00	\$75.00	\$26,325.00
33 ROCK SLOPE PROTECTION FABRIC	S.Y.	351	\$5.00	\$1,755.00	\$4.75	\$1,667.25	\$7.00	\$2,457.00
34 DUST ABATEMENT	L.S.	1	\$25,000.00	\$25,000.00	\$15,600.00	\$15,600.00	\$7,500.00	\$7,500.00
35 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$7,500.00	\$7,500.00
36 NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$1.00	\$1.00	\$7,500.00	\$7,500.00
37 18-INCH CML&W WATERLINE	L.F.	258	\$150.00	\$38,700.00	\$925.00	\$238,650.00	\$850.00	\$219,300.00
38 18-INCH STEEL WATERLINE	L.F.	214	\$150.00	\$32,100.00	\$330.00	\$70,620.00	\$300.00	\$64,200.00
39 18-INCH C-905 WATERLINE	L.F.	2,049	\$150.00	\$307,350.00	\$155.00	\$317,595.00	\$160.00	\$327,840.00
40 3-FOOT ADJUSTABLE PIPE SUPPORTS	EACH	4	\$750.00	\$3,000.00	\$900.00	\$3,600.00	\$875.00	\$3,500.00
41 16-INCH STEEL WATERLINE	L.F.	65	\$270.00	\$17,550.00	\$1,225.00	\$79,625.00	\$950.00	\$61,750.00
42 EMWD CONCRETE POLE FOUNDATION	L.S.	1	\$13,000.00	\$13,000.00	\$2,800.00	\$2,800.00	\$4,000.00	\$4,000.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021



ENGINEER'S ESTIMATE

RAL INVESTMENT CORPORATION dba SILVERSTRAND CONSTRUCTION JEREMY HARRIS CONSTRUCTION, INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
23	HOT MIX ASPHALT (HMA)	TONS	6	\$250.00	\$1,500.00	\$120.00	\$720.00	\$500.00	\$3,000.00
24	TEMPORARY RESURFACING	TONS	5	\$250.00	\$1,250.00	\$120.00	\$600.00	\$405.00	\$2,025.00
25	3-FOOT CABLE RAILING	L.F.	49	\$50.00	\$2,450.00	\$520.00	\$25,480.00	\$88.00	\$4,312.00
26	MISCELLANEOUS IRON AND STEEL	LBS.	260	\$2.50	\$650.00	\$25.00	\$6,500.00	\$2.75	\$715.00
27	MIDWEST GUARDRAIL SYSTEM	L.F.	60	\$82.00	\$4,920.00	\$331.00	\$19,860.00	\$150.00	\$9,000.00
28	DELINEATORS	EACH	21	\$75.00	\$1,575.00	\$15.00	\$315.00	\$60.00	\$1,260.00
29	ADJUST MANHOLE TO GRADE	EACH	1	\$1,500.00	\$1,500.00	\$3,245.00	\$3,245.00	\$4,212.00	\$4,212.00
30	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
31	ROCK SLOPE PROTECTION, CLASS V	C.Y.	306	\$82.00	\$25,092.00	\$160.00	\$48,960.00	\$88.00	\$26,928.00
32	FILTER MATERIAL	C.Y.	351	\$50.00	\$17,550.00	\$195.00	\$68,445.00	\$62.00	\$21,762.00
33	ROCK SLOPE PROTECTION FABRIC	S.Y.	351	\$5.00	\$1,755.00	\$60.00	\$21,060.00	\$4.60	\$1,614.60
34	DUST ABATEMENT	L.S.	1	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$23,500.00	\$23,500.00
35	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$45,000.00	\$45,000.00	\$7,500.00	\$7,500.00
36	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$4,320.00	\$4,320.00
37	18-INCH CML&W WATERLINE	L.F.	258	\$150.00	\$38,700.00	\$450.00	\$116,100.00	\$892.00	\$230,136.00
38	18-INCH STEEL WATERLINE	L.F.	214	\$150.00	\$32,100.00	\$321.00	\$68,694.00	\$883.00	\$188,962.00
39	18-INCH C-905 WATERLINE	L.F.	2,049	\$150.00	\$307,350.00	\$168.00	\$344,232.00	\$149.00	\$305,301.00
40	3-FOOT ADJUSTABLE PIPE SUPPORTS	EACH	4	\$750.00	\$3,000.00	\$680.00	\$2,720.00	\$1,260.00	\$5,040.00
41	16-INCH STEEL WATERLINE	L.F.	65	\$270.00	\$17,550.00	\$262.00	\$17,030.00	\$1,605.00	\$104,325.00
42	EMWD CONCRETE POLE FOUNDATION	L.S.	1	\$13,000.00	\$13,000.00	\$6,500.00	\$6,500.00	\$1,915.00	\$1,915.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021



ENGINEER'S ESTIMATE GRANITE CONSTRUCTION SPIESS CONSTRUCTION CO., COMPANY INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
23	HOT MIX ASPHALT (HMA)	TONS	6	\$250.00	\$1,500.00	\$1,200.00	\$7,200.00	\$484.00	\$2,904.00
24	TEMPORARY RESURFACING	TONS	5	\$250.00	\$1,250.00	\$180.00	\$900.00	\$165.00	\$825.00
25	3-FOOT CABLE RAILING	L.F.	49	\$50.00	\$2,450.00	\$300.00	\$14,700.00	\$88.00	\$4,312.00
26	MISCELLANEOUS IRON AND STEEL	LBS.	260	\$2.50	\$650.00	\$13.00	\$3,380.00	\$11.00	\$2,860.00
27	MIDWEST GUARDRAIL SYSTEM	L.F.	60	\$82.00	\$4,920.00	\$100.00	\$6,000.00	\$82.50	\$4,950.00
28	DELINEATORS	EACH	21	\$75.00	\$1,575.00	\$88.00	\$1,848.00	\$111.10	\$2,333.10
29	ADJUST MANHOLE TO GRADE	EACH	1	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$1,320.00	\$1,320.00
30	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
31	ROCK SLOPE PROTECTION, CLASS V	C.Y.	306	\$82.00	\$25,092.00	\$78.00	\$23,868.00	\$128.70	\$39,382.20
32	FILTER MATERIAL	C.Y.	351	\$50.00	\$17,550.00	\$112.00	\$39,312.00	\$82.50	\$28,957.50
33	ROCK SLOPE PROTECTION FABRIC	S.Y.	351	\$5.00	\$1,755.00	\$20.00	\$7,020.00	\$3.85	\$1,351.35
34	DUST ABATEMENT	L.S.	1	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00	\$31,350.00	\$31,350.00
35	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$12,000.00	\$12,000.00	\$25,300.00	\$25,300.00
36	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$500.00	\$500.00	\$3,520.00	\$3,520.00
37	18-INCH CML&W WATERLINE	L.F.	258	\$150.00	\$38,700.00	\$1,250.00	\$322,500.00	\$576.40	\$148,711.20
38	18-INCH STEEL WATERLINE	L.F.	214	\$150.00	\$32,100.00	\$700.00	\$149,800.00	\$622.60	\$133,236.40
39	18-INCH C-905 WATERLINE	L.F.	2,049	\$150.00	\$307,350.00	\$135.00	\$276,615.00	\$192.72	\$394,883.28
40	3-FOOT ADJUSTABLE PIPE SUPPORTS	EACH	4	\$750.00	\$3,000.00	\$1,100.00	\$4,400.00	\$1,485.00	\$5,940.00
41	16-INCH STEEL WATERLINE	L.F.	65	\$270.00	\$17,550.00	\$2,200.00	\$143,000.00	\$1,562.00	\$101,530.00
42	EMWD CONCRETE POLE FOUNDATION	L.S.	1	\$13,000.00	\$13,000.00	\$5,000.00	\$5,000.00	\$3,547.50	\$3,547.50

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021



ENGINEER'S ESTIMATE

H&H GENERAL CONTRACTORS, INC.

VANCE CORPORATION

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
23	HOT MIX ASPHALT (HMA)	TONS	6	\$250.00	\$1,500.00	\$784.00	\$4,704.00	\$900.00	\$5,400.00
24	TEMPORARY RESURFACING	TONS	5	\$250.00	\$1,250.00	\$269.00	\$1,345.00	\$1,000.00	\$5,000.00
25	3-FOOT CABLE RAILING	L.F.	49	\$50.00	\$2,450.00	\$174.00	\$8,526.00	\$160.00	\$7,840.00
26	MISCELLANEOUS IRON AND STEEL	LBS.	260	\$2.50	\$650.00	\$6.00	\$1,560.00	\$2.50	\$650.00
27	MIDWEST GUARDRAIL SYSTEM	L.F.	60	\$82.00	\$4,920.00	\$127.00	\$7,620.00	\$115.00	\$6,900.00
28	DELINEATORS	EACH	21	\$75.00	\$1,575.00	\$125.00	\$2,625.00	\$80.00	\$1,680.00
29	ADJUST MANHOLE TO GRADE	EACH	1	\$1,500.00	\$1,500.00	\$1,344.00	\$1,344.00	\$3,500.00	\$3,500.00
30	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
31	ROCK SLOPE PROTECTION, CLASS V	C.Y.	306	\$82.00	\$25,092.00	\$172.00	\$52,632.00	\$65.00	\$19,890.00
32	FILTER MATERIAL	C.Y.	351	\$50.00	\$17,550.00	\$59.00	\$20,709.00	\$85.00	\$29,835.00
33	ROCK SLOPE PROTECTION FABRIC	S.Y.	351	\$5.00	\$1,755.00	\$8.00	\$2,808.00	\$5.00	\$1,755.00
34	DUST ABATEMENT	L.S.	1	\$25,000.00	\$25,000.00	\$22,400.00	\$22,400.00	\$15,000.00	\$15,000.00
35	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$20,500.00	\$20,500.00	\$25,000.00	\$25,000.00
36	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$1,400.00	\$1,400.00	\$7,500.00	\$7,500.00
37	18-INCH CML&W WATERLINE	L.F.	258	\$150.00	\$38,700.00	\$1,078.00	\$278,124.00	\$1,000.00	\$258,000.00
38	18-INCH STEEL WATERLINE	L.F.	214	\$150.00	\$32,100.00	\$741.00	\$158,574.00	\$400.00	\$85,600.00
39	18-INCH C-905 WATERLINE	L.F.	2,049	\$150.00	\$307,350.00	\$114.00	\$233,586.00	\$220.00	\$450,780.00
40	3-FOOT ADJUSTABLE PIPE SUPPORTS	EACH	4	\$750.00	\$3,000.00	\$1,540.00	\$6,160.00	\$2,600.00	\$10,400.00
41	16-INCH STEEL WATERLINE	L.F.	65	\$270.00	\$17,550.00	\$2,175.00	\$141,375.00	\$1,300.00	\$84,500.00
42	EMWD CONCRETE POLE FOUNDATION	L.S.	1	\$13,000.00	\$13,000.00	\$6,800.00	\$6,800.00	\$9,750.00	\$9,750.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50 **Bid Open Date:** 3/11/2021

ENOINEEDIO FOTIM

THE COUNTY FLOOR OF THE PARTY AT TOMBER OF THE PARTY AT T

ENGINEER'S ESTIMATE BEADOR CONSTRUCTION LB CIVIL CONSTRUCTION, COMPANY, INC. INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
23	HOT MIX ASPHALT (HMA)	TONS	6	\$250.00	\$1,500.00	\$920.00	\$5,520.00	\$400.00	\$2,400.00
24	TEMPORARY RESURFACING	TONS	5	\$250.00	\$1,250.00	\$550.00	\$2,750.00	\$300.00	\$1,500.00
25	3-FOOT CABLE RAILING	L.F.	49	\$50.00	\$2,450.00	\$180.00	\$8,820.00	\$170.00	\$8,330.00
26	MISCELLANEOUS IRON AND STEEL	LBS.	260	\$2.50	\$650.00	\$10.00	\$2,600.00	\$7.00	\$1,820.00
27	MIDWEST GUARDRAIL SYSTEM	L.F.	60	\$82.00	\$4,920.00	\$125.00	\$7,500.00	\$125.00	\$7,500.00
28	DELINEATORS	EACH	21	\$75.00	\$1,575.00	\$125.00	\$2,625.00	\$125.00	\$2,625.00
29	ADJUST MANHOLE TO GRADE	EACH	1	\$1,500.00	\$1,500.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00
30	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
31	ROCK SLOPE PROTECTION, CLASS V	C.Y.	306	\$82.00	\$25,092.00	\$140.00	\$42,840.00	\$240.00	\$73,440.00
32	FILTER MATERIAL	C.Y.	351	\$50.00	\$17,550.00	\$110.00	\$38,610.00	\$150.00	\$52,650.00
33	ROCK SLOPE PROTECTION FABRIC	S.Y.	351	\$5.00	\$1,755.00	\$15.00	\$5,265.00	\$10.00	\$3,510.00
34	DUST ABATEMENT	L.S.	1	\$25,000.00	\$25,000.00	\$11,000.00	\$11,000.00	\$40,000.00	\$40,000.00
35	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$11,000.00	\$11,000.00	\$15,000.00	\$15,000.00
36	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	\$5,000.00	\$5,000.00
37	18-INCH CML&W WATERLINE	L.F.	258	\$150.00	\$38,700.00	\$750.00	\$193,500.00	\$820.00	\$211,560.00
38	18-INCH STEEL WATERLINE	L.F.	214	\$150.00	\$32,100.00	\$710.00	\$151,940.00	\$500.00	\$107,000.00
39	18-INCH C-905 WATERLINE	L.F.	2,049	\$150.00	\$307,350.00	\$150.00	\$307,350.00	\$150.00	\$307,350.00
40	3-FOOT ADJUSTABLE PIPE SUPPORTS	EACH	4	\$750.00	\$3,000.00	\$1,375.00	\$5,500.00	\$900.00	\$3,600.00
41	16-INCH STEEL WATERLINE	L.F.	65	\$270.00	\$17,550.00	\$1,425.00	\$92,625.00	\$2,200.00	\$143,000.00
42	EMWD CONCRETE POLE FOUNDATION	L.S.	1	\$13,000.00	\$13,000.00	\$10,700.00	\$10,700.00	\$9,000.00	\$9,000.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021



ENGINEER'S ESTIMATE BOWE CONTRACTORS, INC. BOSCO CONSTRUCTORS, INC.

tem No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid	
23	HOT MIX ASPHALT (HMA)	TONS	6	\$250.00	\$1,500.00	\$1,499.00	\$8,994.00	\$250.00	\$1,500.00	
24	TEMPORARY RESURFACING	TONS	5	\$250.00	\$1,250.00	\$1,799.00	\$8,995.00	\$500.00	\$2,500.00	
25	3-FOOT CABLE RAILING	L.F.	49	\$50.00	\$2,450.00	\$256.00	\$12,544.00	\$160.00	\$7,840.00	
26	MISCELLANEOUS IRON AND STEEL	LBS.	260	\$2.50	\$650.00	\$23.00	\$5,980.00	\$10.00	\$2,600.00	
27	MIDWEST GUARDRAIL SYSTEM	L.F.	60	\$82.00	\$4,920.00	\$194.00	\$11,640.00	\$117.00	\$7,020.00	
28	DELINEATORS	EACH	21	\$75.00	\$1,575.00	\$310.00	\$6,510.00	\$115.00	\$2,415.00	
29	ADJUST MANHOLE TO GRADE	EACH	1	\$1,500.00	\$1,500.00	\$5,543.00	\$5,543.00	\$2,000.00	\$2,000.00	
30	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	
31	ROCK SLOPE PROTECTION, CLASS V	C.Y.	306	\$82.00	\$25,092.00	\$100.00	\$30,600.00	\$300.00	\$91,800.00	
32	FILTER MATERIAL	C.Y.	351	\$50.00	\$17,550.00	\$81.00	\$28,431.00	\$150.00	\$52,650.00	
33	ROCK SLOPE PROTECTION FABRIC	S.Y.	351	\$5.00	\$1,755.00	\$40.00	\$14,040.00	\$30.00	\$10,530.00	
34	DUST ABATEMENT	L.S.	1	\$25,000.00	\$25,000.00	\$6,950.00	\$6,950.00	\$35,000.00	\$35,000.00	
35	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$33,396.00	\$33,396.00	\$25,000.00	\$25,000.00	
36	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$8,418.00	\$8,418.00	\$75,000.00	\$75,000.00	
37	18-INCH CML&W WATERLINE	L.F.	258	\$150.00	\$38,700.00	\$1,667.00	\$430,086.00	\$100.00	\$25,800.00	
38	18-INCH STEEL WATERLINE	L.F.	214	\$150.00	\$32,100.00	\$1,150.00	\$246,100.00	\$250.00	\$53,500.00	
39	18-INCH C-905 WATERLINE	L.F.	2,049	\$150.00	\$307,350.00	\$118.00	\$241,782.00	\$250.00	\$512,250.00	
40	3-FOOT ADJUSTABLE PIPE SUPPORTS	EACH	4	\$750.00	\$3,000.00	\$2,212.00	\$8,848.00	\$1,000.00	\$4,000.00	
41	16-INCH STEEL WATERLINE	L.F.	65	\$270.00	\$17,550.00	\$2,079.00	\$135,135.00	\$350.00	\$22,750.00	
42	EMWD CONCRETE POLE FOUNDATION	L.S.	1	\$13,000.00	\$13,000.00	\$4,294.00	\$4,294.00	\$10,000.00	\$10,000.00	İ

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021



ENGINEER'S ESTIMATE

O'DUFFY BROS., INC.

THE VAN DYKE CORPORATION

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
23	HOT MIX ASPHALT (HMA)	TONS	6	\$250.00	\$1,500.00	\$700.00	\$4,200.00	\$1,224.83	\$7,348.98
24	TEMPORARY RESURFACING	TONS	5	\$250.00	\$1,250.00	\$350.00	\$1,750.00	\$975.57	\$4,877.85
25	3-FOOT CABLE RAILING	L.F.	49	\$50.00	\$2,450.00	\$420.00	\$20,580.00	\$749.55	\$36,727.95
26	MISCELLANEOUS IRON AND STEEL	LBS.	260	\$2.50	\$650.00	\$15.00	\$3,900.00	\$48.27	\$12,550.20
27	MIDWEST GUARDRAIL SYSTEM	L.F.	60	\$82.00	\$4,920.00	\$330.00	\$19,800.00	\$764.85	\$45,891.00
28	DELINEATORS	EACH	21	\$75.00	\$1,575.00	\$150.00	\$3,150.00	\$185.66	\$3,898.86
29	ADJUST MANHOLE TO GRADE	EACH	1	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,661.61	\$1,661.61
30	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
31	ROCK SLOPE PROTECTION, CLASS V	C.Y.	306	\$82.00	\$25,092.00	\$200.00	\$61,200.00	\$186.26	\$56,995.56
32	FILTER MATERIAL	C.Y.	351	\$50.00	\$17,550.00	\$250.00	\$87,750.00	\$46.77	\$16,416.27
33	ROCK SLOPE PROTECTION FABRIC	S.Y.	351	\$5.00	\$1,755.00	\$10.00	\$3,510.00	\$1.63	\$572.13
34	DUST ABATEMENT	L.S.	1	\$25,000.00	\$25,000.00	\$31,000.00	\$31,000.00	\$55,840.20	\$55,840.20
35	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$18,513.04	\$18,513.04
36	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$1.00	\$1.00	\$17,360.72	\$17,360.72
37	18-INCH CML&W WATERLINE	L.F.	258	\$150.00	\$38,700.00	\$1,000.00	\$258,000.00	\$1,140.86	\$294,341.88
38	18-INCH STEEL WATERLINE	L.F.	214	\$150.00	\$32,100.00	\$300.00	\$64,200.00	\$408.87	\$87,498.18
39	18-INCH C-905 WATERLINE	L.F.	2,049	\$150.00	\$307,350.00	\$200.00	\$409,800.00	\$139.97	\$286,798.53
40	3-FOOT ADJUSTABLE PIPE SUPPORTS	EACH	4	\$750.00	\$3,000.00	\$2,220.00	\$8,880.00	\$1,103.70	\$4,414.80
41	16-INCH STEEL WATERLINE	L.F.	65	\$270.00	\$17,550.00	\$1,800.00	\$117,000.00	\$2,733.17	\$177,656.05
42	EMWD CONCRETE POLE FOUNDATION	L.S.	1	\$13,000.00	\$13,000.00	\$15,000.00	\$15,000.00	\$1,411.07	\$1,411.07

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL RECHARGE BASIN EXPANSION, STAGE 50

Project Number: 4-0-0030-50

Bid Open Date: 3/11/2021

